Cnoxenue 10 100 (1o ropu3oHTaIM)

Wms: Jlata: _ Orenka:
62 +37 = 47+ 16 =
31+ 64 = 13428 =
62 + 46 = 53+9=
13+78 = 14+ 86 =
30 +97 = | +46 =
11+ 67 = 2+48 =
33+41 = 83 + 80 =
3+45= 39+ 80 =
15+ 66 = 62 +42 =
73+97 = 08 + 67 =
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Cnoxenue 10 100 (1o ropu3oHTaIN)

Nwms:

62 +37 =99

31 +64 =095

62 +46 = 108

13+78 =91

30+97 =127

11 +67="78

33+41="74

3+45=48

15+ 66 = 81

73+97=170

47+ 16 = 63

13 +28 =41

53+9=062

14+ 86 = 100

1 +46 = 47

2+48 =50

83 +80 =163

39+80 =119

62+42 =104

98 + 67 = 165
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Orenka:
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